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4 100kN/mM%#BZ % = -~ = —-|3mEFEZD -~ = —| 100kN/ Mm%z % = -~ = —-|3mEFEBZ5 o ~ - - -
Zh st 1.00] 0.00 ~ 756 96.75| #nList | 000 ~ 756| 2.14 10.83 zh st 1.00f 5.00 ~ 10.00 96.75| #nList | 500 ~ 10.00f 2.14 10.83
5 100kN/mM##BZ % = -~ = —-|3m#EFEZ5 -~ = = —| 100kN/ Mm%z % = -~ = —-|3m#EFBZ5 . ~ - - -
zhns 1.00]0.00 ~ 7.15 90.82| #nList | 000 ~ 7.15| 248 12.51 zh st 1.00f 5.00 ~ 10.30 90.82| #n Ll | 500 ~ 10.30f 2.48 12.51
6 100kN/mM##B % % = -~ = —-|3m#FEZ5 -~ = = —| 100kN/ Mm% =% = -~ = —-|3m#EFBZ5 . ~ - - -
Zhs 1.00]0.00 ~ 6.18 7756 #hist 000 ~  6.18] 2.17 10.97 zh st 1.00f 500 ~ 9.92 7756 Fhist | 500 ~ 992 217 10.97
7 100kN/mM##B % % = -~ = —-|3m#FEZ5 -~ = = —| 100kN/ Mm%z % = -~ = —-|3m#EFBZ5 . ~ - - -
Zh st 1.00{ 0.00 ~ 7.30 92.96| #nList | 000 ~ 7.30| 1.92 9.71 zh st 1.00f 500 ~ 992 9296 ZnLis | 500 ~ 992 192 9.71
8 100kN/mM##B % % = -~ = —-|3m#EFEZ5 -~ = = —| 100kN/ Mm%z % = -~ = —-|3m#EFBZ5 . ~ - - -
zhns 1.00{ 0.00 ~ 6.00 75.13] #hist | 000 ~ 6.00] 1.85 9.36 zh st 1.00f 500 ~ 7.01 7513 #hist | 500 ~ 7.01| 1.85 9.36
9 100kN/mM##B % % = -~ = —-|3m#FEZ5 -~ = = —| 100kN/ Mm%z % = -~ = —-|3m#EFBZ5 . ~ - - -
Zzh s 1.00] 0.00 ~ 754 96.45| ZnList | 000 ~ 754| 2.25 11.37 zh st 1.00f 5.00 ~ 10.00 96.45| ZhLis | 500 ~ 10.00f 2.25 11.37
10 100kN/m%E#BZ % -1 -~ = -|3mZzBZB| - ~ = = —| 100kN/ M Z#BZ % = -~ = -|3m%i#BZ % o ~ = - -
ZzhLst 1.00{ 0.00 ~ 6.91 87.58| #nList | 000 ~ 6.91| 2.58 13.02 zh st 1.00f 5.00 ~ 10.66 87.58| #n Ly | 500 ~ 10.66) 258 13.02
11 100kN/m%E#BZ % -1 -~ = -|3mZzBZB| - ~ = = —| 100kN/Z#B 2% = -~ = -|3m%i#BZ % o ~ = - -
Zzh st 1.00]0.00 ~ 544 67.82| ZnList | 000 ~ 544 1.81 9.13 zh st 1.00f 500 ~ 6.00 67.82] #n Ly | 500 ~ 6.00f 1.81 9.13
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zzh s ~ zhnLs ~ zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
ZzhLst ~ zhnLs ~ zh st ~ zhs ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
LS ~ ZNLS ~ ZThLLst ~ ZTHLSE ~
100kN/mM%#BZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEEZDB ~
LS ~ ZNLSE ~ ZThLLst ~ ZTHLSE ~
100kN/mM%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLLst ~ ZTHLSE ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/m%Z#8 % % ~ ImEEZDB ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/m%Z#8 % % ~ ImEEZDB ~
Zh LS ~ ZH S ~ Zh LS ~ LS ~
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